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QUESTION 1

You want to use a Groovy script to modify the headers of an exchange message. What import library must you use?
A. com.apache.camel.framework.util. Message

B. com.sap.gateway.integration.flow.Message

C. com.sap.gateway.xiinspector.xml.Message

D. com.sap.gateway.ip.core.customdev.util.Message

Correct Answer: D

QUESTION 2

What can you use to deploy a cloud native micro app?
A. ABAP stack

B. SAP Cloud Platform, Neo environment

C. SAP Cloud Platform, Cloud Foundry environment
D. SAP HANA Enterprise Cloud

Correct Answer: D

QUESTION 3

You split a message, modify the split message, merge the split message and send in a single message via a Web
Service. What are the steps to accomplish this?

A. 1. Split
2. SEND
B. 1. Split *
2.

Join
Gather

SEND
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C. 1. Split
2.
Aggregation
3.

Join

4.

SEND

D. 1. Split*
2.

Multicast
3.
Aggregator
4.

send

Correct Answer: B

QUESTION 4

Which of the following are characteristics of the cloud native process model? Note : There are 2 correct answers to this
guestion

A. Waterfall

B. Continuous delivery
C. Use of containers
D. Client server

Correct Answer: BC

QUESTION 5
Which transport and message protocols are used with an inbound IDoc adapter?
A. tRFC and IDoc

B. HTTP(s) and SOAP
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C. tRFC and SOAP
D. HTTP(s) and IDoc

Correct Answer: A
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